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every two wrong answer, then marks for one right
answer will be deducted
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Answer Sheet.
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Sheet only. Mark your responses carefully. No
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GENERALAPTITUDE

Which of the figures from the answer set
should follow the sequence in the problem
set?

Problem Set

[OIVAIE

Answer Set

&
ollO;

Which of the figures from the answer set
should replace the question mark in the

problem set?
Problem Set
1 2
NG AR
3 4
DICIE
L

Answer Set

(v
)
(A) A
(C) B

(B) D
(D) C

Ql

Q2

frforRad STR—ag H BF—3T JMPfa
TeT—HE & AqhH H BN AIRY?
TeT—E

[OIAIE

BT-I'\’—'\':I'lE
ol
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(A) B
(B) A
(©) D
D) C

IR—FYE 1 A DI NPT T8
d4 Ry U ye—fore & M WS
EIEN

T8

1A\-2 1-
3®‘4
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(1)
c® D@
(A) A
(C) B

(B) D
(D) C
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Q3 Which of the figures from the answer set Q3 f=ferRad STR—Ewg H D SIEIR]
should follow the sequence in the problem RSB D 3 IhH # g AR

s =ate

|
! | < <> @
< <> @ e Al
A B c D | (A) A
(A) A (B) D
(B) D (C) B
©) B (D) C
(D) C

Q4  Which of the figures from the answer set Q4 IIN—UYE T g pa—T 37 P d fou v

should replace the question mark in the UA—TqE § UH—Ig & WM R A
problem set? RQ?
Problem Set URA—YE
- /= = ||= |
- o @ - o @
o |[@]| 7 o ||[® || 7
Answer Set IIR—ATE
A B A B
c D c D
(A) B (A) B
(B) D (B) D
©) A ©) A
(D) C (D) C
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Q5

Which of the figures from the answer set
should replace the question mark in the
problem set?

- N ¥
vV /|«

Ay B A

c4_n—>

(A) A
(B) D
(©) B
(D) C

PSGI1 Consider the following Venn diagram,

MS-1

read the information given and answer the
question that follows.

A class 0200 children were asked to state
their favourite summer snack. Twelve
children said they preferred both, cookies
and ice-cream but not cupcakes. Six
children said they preferred ice-cream and
cupcakes, but not cookies. Eight children
preferred cupcakes and cookies, but not
ice-cream. Three children named various
snacks (pizza, burger, sandwich, etc.)
other than ice-cream, cookies and
cupcakes.

STR—E H H DA APl TT—TE

# v U g @ R W) e
qTfay?

=k R
v ¥ <

A*Bf

c4_n—p

(A) A
(B) D
(©) B
(D) C

PSG1 frr=ferRad d9—amxg &1 &u9 § &d

gU & TS I Bl U 3R A fIw Y
g3 BT SR < |

UH Hell & 200 dod Bl b UNIaIal
MSBIAR A0 (FPh) & aR | ga
DT Pl TAT| 12 deai o garr k9
FHaolol 3R AGADA QI UHE B o
9 HUDad T8l | 6 gal o g fb
MBI IR HUDHERT UG R 8 olfh
FHaIol Al | 8 el 1 HUDRT 3R FHaplol
BT TS fHaT oifded eMgas ™ BT 7181 | 3
el 7 ATSHDH, FbIST AR HUDRT Bl
BleHr g faf= wa (fson, &),
Jsfaa anfe) & wig fdhar|
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How many children preferred exactly two

items?
(A) 23
(B) 20
(C) 26
(D) 29

What is the percentage of children who
preferred three items?

(A) 6

(B) 3

©) 8

(D) 4

How many children preferred all three
snacks: cookies, cupcakes and ice cream?
(A) 4
(B) 8
(ONE
(D) 2

If 10% of the children who preferred
cookies, changed their mind and said they
preferred jalebis, what would be the
difference in numbers between children
who preferred exactly one snack and
children who preferred three snacks?
(A) 159

(B) 162

(C) 163

(D) 164

Q6

Q7

Q8

Q9

foam Tl 9 gURfa: 7 e UNe
fopu?

(A) 23

(B) 20

(C) 26

(D) 29

feam gfoerd d=ai 9 99 He uNe
fopu?
(A) 6
(B) 3
©) 8
(D) 4

B e oA e R 2
UG AR AgADHH qag fhy?
(A) 4

(B) 8

€ 6

(D) 2

Il HFHIS UHE BRI dlel 10 Gl
ol AT H EADBR STASAT THE Bl
g, 99 TEI—8] Uh Wb THT B dTefl
ol 3R I T Ui BRe Tl 9o
@ g T BT AR RAT  IIT?

(A) 159

(B) 162

(C) 163

(D) 164
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Neelima starts from home and walks
northward to visit a temple. Then, she
turns left, walks equal distance straight
and makes some purchases from the
market. She turns left again, walks the
same distance from her home to the temple
to reach a library. Then, she turns left again
and walks until she reaches home. What
shape is her path likely to form?

(A) Circle

(B) Rectangle

(C) Triangle

(D) Oval

Six friends, L, M, N, O, P and Q are sitting
in a circle facing the centre. All neighbours
are at an equal distance from their
neighbour. Each person is seated exactly
opposite one friend. N is sitting neither
next to O nor M. L is sitting opposite O.
P is to the left of N. Who is N sitting
between?

(A) Qand L

(B) Qand P

(C) Mand L

(D) Land P

A cow eating grass on a field moves
towards the east. Then it turns to the right
and keeps grazing while moving. When it
stops moving, in which direction relative
to its first position will the cow be?

(A) South-west

(B) North-west

(C) South-east

(D) North-east

Q10

Q11

Q12

M U9 BR ¥ URY IRd IR Bl
3R TP HfQR H S § | TP d1e q8
¢ geHh?, WY WR g W Ferehl 2
3R IR ¥ FHB WIGN Tl © | a8
i | 9N SR Fokil g5 JIBIA
Ugad & folg Il 8 g TF Rl ©
I g I8 TR W FdBR HR Bl
ST Y 9 @1 i | 98 R 3 1Y gl
2 3R U TR UgTH dF dercll § | ITD
IR BT 5H ATBR & I+ DI FHIE]
87

(A) TATHR

(B) STHDIOT

(ORETIEIN

(D) 3TSThR

we A3 L, M, N, O, P Ud Q Ush gxireiR
TRR ¥ &g BT AR @ kD 93 T | I
TSRl 3 USRIl W Udh §HM X W
BN W DS A to B & vahan
AT ST 8 I NF a1 O P S §9Tl 93T
TIRTEAMD Ad A dT 21 L, O
P AW SST 2| PN ® 918 3R o7 2 |
N fea® = # o1 87

(A) QUda L

(B) Qua p

(C) MTG L

(D) LTd P

UH MY UH ST H O Rl g8 4
faem @1 3R 9« W& 2| R 98 3|
Sl 2 3R Ford gU AT W1 SIRY A
2| 99 98 For 9 HRl § df 98 370
g IF ¥ fhw faem # arfi?

(A) <feror — ufeed

(B) TR — uf¥=gH

(C) <féror — od

(D) SR — 7d
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Six friends, A, B, C, D, E and F are
sitting in a circle facing the centre.

All neighbours are at an equal
distance from their neighbour. Each
person is seated exactly opposite
one friend. D is neither next to nor L
opposite C. A and F are sitting
opposite each other. B is sitting
opposite C. Who is sitting opposite

D?
(A) E
(C) B

(B) A
(D) C

Consider the following statement to be
true even if it seems to be at variance from
commonly known facts. Choose the
conclusion that logically follows from the

given statement.

Statement:

All actresses are beautiful.

Conclusions

I) [IfAisbeautiful, Amust be an actress.

II) IfAis an actress, then A must be
beautiful.

III) Aisugly, A must be an actress.

IV) Actors are ugly.

(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Both conclusions III and IV follow

(D) None of the conclusions follow

Q14

Q13 ®we 43 A,B,C,D,EUd F Uk
AR SRR H g DI 3R &
XD 95 | A TSR _H
TSl | UHaIE R WR 9O § |
&R Pl (B U A7 & vdhad
AFH BT B DA A CH T
¥ I6T ?AM FA D SO
AW 99T 8| IR U R
AFT 93 21 BC & A 9T
21 D® AF BIF 93T 87
(A) E (B) A
(C) B (D) C

ferferRad woFT &1 I 94, ol &1 9
AT WU I 1d deat I = udig 2
g A S1a BN fb dIa—ared ey

Y DY BT THYYT B 3 RN BT
g/%|

fqaRoT:
|1 IR gav B B |

frspy -

) T AGR g A1 98 A B
IR

) afe A== 2 a1 gax 8 =12y |

) A¥E 8, @ A== 81 =Ry |

V) 3T B aTel e Bid B |

(A) BId FTpd 1 STIERT BT 2 |

(B) ®ael s 11 STR0T el 2 |

(C) Fr=py 11 Td IV SF1 TR
=

(D) ®Ig 1 =By AT TET HaT 2 |
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Consider the following statements to be
true even if they seem to be at variance
from commonly known facts. Choose the
conclusion that logically follows from the
given statements.

Statement:

All the movies that Charlie Chaplin acted
in were silent movies. Some of his movies
were made by MGM.

Conclusions:

I)  MGM makes only movies.

II) Charlie Chaplin acted in some silent
movies made by MGM.

IIT) MGM made movies with dialogue
with Charlie Chaplin.

IV) Allsilent movies that Charlie Chaplin
acted in were made by MGM.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusion III and IV follow
(D) None of the conclusions follow

Consider the following statement to be
true even if it seems to be at variance from
commonly known facts. Choose the
conclusion that logically follows from the
given statement.

Statement:

Most cakes in a particular bakery are
expensive.

Conclusions:

I) There are no cheap cakes in that
bakery.

IT) All cakes in that bakery are
expensive.

IIT) There are cheap cakes also in that
bakery.

IV) Plum cakes in that bakery are
expensive.

(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Only conclusion III follows

(D) Only conclusion IV follows

Q15
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Consider the following statements to be
true even if they seem to be at variance
from commonly known facts. Choose the
conclusion that logically follows from the
given statements.

Statements:

Most metro homes are in buildings with
more than three floors. Most buildings in
metros with more than two floors have
lifts.

Conclusions:

I) Most metro buildings with lifts have
homes in them.

II) Many metro homes in buildings with
more than three floors have lifts.

IIT) All metro homes have lifts.

IV) Only metro homes with more than
two floors have lifts.

(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Only conclusion III follows
(D) Only conclusion IV follows

If HONEY is called CHOCOLATE;
CHOCOLATE 1is called SUGAR;
SUGAR is called JOY; and JOY is called
FREEDOM, which of the following is
made from cocoa beans?

(A) Chocolate

(B) Sugar

(C) Honey

(D) Joy

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Wide : Narrow :: Sharp : ?

(A) Blunt

(B) Pointed

(C) Knife

(D) Jagged

10
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Q19

f=faRad woFT @ 9 a4, Yol & 9
AT w3 A1 Tt = yehid 8id
g Y oa = b pHa—ar/a fosey

faQ U P BT THYY BU A AFARI
BT B/ E |

HY

MBI ARSI BRI ATl
AP dret WAl H T HEMRI B
forress 21

4 A 4

forsp:

) forocH arel JARIBIRT ARG Hal
¥R T

II) o ATl & 31fd® drel wadi
3P AR BRI H forged €|

I11) T AR e=i # forged €|

IV) @dal a1 #fTall I 3ifdd arel
AR BRI H forged € |

(A) BId Frpd 1 STIERT R 2 |
(B) ®ael s 1 STR0T el 2 |
(C) Faa f=pd [l STERT &R ¢ |
(D) ®aal Ay IV IR &var ¥ |

If 38T BT didhelc HaT ST 8, bl
BI YR B8 ST & | I PR DI A A
BB ST & 3R S P Wd=Iar dal
SITAT & diel 99 o ffalRad § 9
R a7 &7

(A) didalc

(B) IR

(C) wree

(D) Sitd

9 faded &1 T BN S AR IeE A
IH—T AT T ST YA IR TN IR
I e B

Arer : gt ¢ Oy - ?

(A) gREA

(B) Farer

(C) di®

(D) &r<XT
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Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Birds : Ornithologist :: Insects : ?

(A) Zoologist

(B) Biologist

(C) Entomologist

(D) Numismatist

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Ten : Decimal :: Two : ?

(A) Septet

(B) Binary

(C) Quince

(D) Quartet

If RED is called YELLOW, YELLOW is
called GREEN and GREEN is called
RED, which of the following colors will
indicate ‘Stop’ at a traffic signal?

(A) Red

(B) Green

(C) Yellow

(D) Blue

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Symphony : Composer :: Book : ?

(A) Publisher

(B) Writer

(C) Printer

(D) Sponsor

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Glitch : Fault :: Usher: ?

(A) Rush

(B) Silence

(C) Hush

(D) Guide
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I e 2|

gefY : gefidsiad :
(A) Ug IS
(B) Sfra dsnf®
(C) dle dsif®
(D) H&T dsid

o

dic @ ?

I fdhed BT TIT B Gl AR I8 I
IH—ET HafRIT B O Yo e N T
I e B

T : QIMAd 1 T : ?

(A) I< (HUce)

(B) JHS (d13719)

(C) #wd (fda=)

(D) TRTF ()

afe ATl B Uil Hal SIal ©; Grell &l
&1 HET Al 7, &I Bl Al Hel ofrdl
2 d ¢fhe Rear R fA=fafad & @
PH—T T “BERY” BT Fbd <7
(A) el

(B) &1

(C) e

(D) =Tl

I b BT T99 BR ST IR e I
IH—ET HafRIT B O Y e N TR
I e B

TRAA : FIABR © : G&d : P

(A) TBTIH

(B) o&G®H

(C) gaa

(D) UrASTH

39 fadmed &1 79 BR S RN I8 A
IH—ET HefRIT B O Yo e N e
SIEIESIE

TSdS © QY : : Jawd : ?

(A) WIS

(B) I

(C) =iffa

(D) Arfeei®
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If CATCH is called DROP, DROP s called
THROW and THROW is called TOSS,
which word will be used to ask someone
to pass the ball?

(A) DROP

(B) TOSS

(C) CATCH

(D) PASS

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Flautist : Flute :: Cellist : ?
(A) Violin

(B) Drums

(C) Cymbals

(D) Cello

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Perfume : Fragrance :: Honey : ?
(A) Liquid

(B) Sweetness

(C) Brown

(D) Crystal

In a code language, RHYTHM is coded
as ISBGSN. How will DRUM be coded
in that language?

(A) WIIN

(B) WIFN

(C) WONF

(D) WEDN

In a code language, CAREER is coded as
XZIVVI. How will EXAM be coded in
that language?

(A) VCON

(B) VCZN

(C) VBHI

(D) VION
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Q26

Q27

Q28

Q29

afe da BT 19 HET oAl &, $1U DI oA
Pl AT 8, 9T BT S el ol & dl
fH<l BT 97T T g™ & forv b v
&1 JANT fdhar SIre?

(A) ST

(B) ¢

(C) »a

(D) U

I fadmed &1 T B Sl IRR I8
IH—T AT 2 ST YA IR TN UK
I e 2|

4GS a1 : dRgRY ¢ Hellarad - ?
(A) arafer

(B) ==

(C) ol

(D) ArIARIAT

I fdhed BT TIT B Ol AR I8 I
IH—T AT T ST YA IR TN UK
RIEIEE

RS CIR IR Gl IO NN
(A) TR

(B) fAsr

(C) ;T

(D) forvea

<A1 e AT § RHY THM @T ISBGSN
@ ®U N P fHIr T 7, S 9T H
DRUM &1 & BTs fhar Srer?

(A) WIN

(B) WIEN

(C) WONF

(D) WEDN

fopdl Pre 99T § CAREER &1 XZIVVI
P ®Y H dls fbar T 8 9 99 |

EXAM &I &4 ®Is fbar Sire?
(A) VCON
(B) VCZN
(C) VBHI
(D) VION
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Which word CANNOT be formed using
letters of the given word only as many
times as each letter appears in the word?
MUTATE
(A) Eat

(C) Mute

(B) Teat
(D) Meet

Which word CANNOT be formed using
letters of the given word only as many
times as each letter appears in the word?
TERRIFY

(A) RIFT

(B) FERRY

(C) TIER

(D) FEET

In a code language, FIGHT is coded as
EHFGS. How will PIECE be coded in that
language?

(A) OHFED

(B) OHEBD

(C) OHDBD

(D) OHDED

In a code language, CHILD is coded as
EJKNF. How will PARENT be coded in
that language?
(A) RIUTVC
(B) RCTGPV
(C) RCTVPG
(D) RCIOTC

Which pair of numbers is the odd one?
(A) 5,125

(B) 4,32
(C) 3,27
(D) 2,8
(A) A (B) B
(©) C (D) D
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Q30

Q31

Q32

Q33

Q34

fQT U I B BRI BT STINT PP

frfarRad & & o9 a1 oeg A8 AR
ST FhdT? B 31&R BT YANT I &F IR
far ST \edr © RTIa-T IR SHBT YART
NEA G

MUTATE

(A) Eat (B) Teat

(C) Mute (D) Meet

fau U ord & BRI BT SYINT RSB
frferRad & & @9 1 oeg 981 AR
ST FHAT? B 31&R BT YINT I &F IR
fohar ST \dr © RTa-T IR SHBT YIRT
o H gall B |

TERRIFY

(A) RIFT

(B) FERRY

(C) TIER

(D) FEET

f<dT ®re 99T # FIGHT @ EHFGS &
w0 H pre fhar T g S99 9T H
PIECE &1 &% dIs fhar Se?

(A) OHFED

(B) OHEBD

(C) OHDBD

(D) OHDED

fo=ft ®rs 99T § CHILD &1 EJKNF &
w0 H P fhar T g S99 9T H
PARENT &1 & ®Is fhar SITQm?
(A) RIUTVC

(B) RCTGPV

(C) RCTVPG

(D) RCIOTC

ferfeRaa At &1 B —-T SISl 39
¥ = 87

(A) 5,125

(B) 4,32

(C) 3,27

(D) 2, 8

(A) A
(C) C

(B) B
(D) D
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In a code language, PAIR is written in a
certain code as 1234, LAIR as 5234 and
LIMP as 5396. What is the code for the
letter ‘I’ in that code language?

(A) 1

B) 3

©) 9

(D) 6

Which number will replace the blank in
the series?

1, 8,27, 64,125, ,343

(A) 216

(B) 225

(C) 250

(D) 206

What will be the value of the expression
given below if the ‘+’ sign is replaced with
+%; *-’ isreplaced with x’; ‘+’is replaced
with -’; and ‘%’ is replaced with ‘+’?
65-10+5+3x4="?

(A) 12

(B) 110

(©) 131

(D) 9

Which pair of numbers is the odd one?
(A) 1,2

(B) 5,24

©) 7,50

(D) 6,35

(A) A
(B) C
©) B
(D) D
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Q35 fHd PBre W1 H PAIR BT 1234 & U

Q36

Q37

Q38

#, LAIR @I 5234 & U #, LIMP &I
5396 ® wU § Prs fbar AT B, ST W9
H T R & v a1 Bls BTT?

(A) 1

(B) 3

© 9

(D) 6

e € TS SRgel 3 Wiell W WR $H—AT
T JATAT?

1,8,27, 64,125, 343

(A) 216

(B) 225

(C) 250

(D) 206

Ifg + B = H g1 AT B, - B
x> H Gl ST ®, ‘= BT <-* H, 3R x
P+ H gT SIar ® @ A Ry Ty
QST BT HIF R BIIT?
65-10+5+3x4="7

(A) 12

(B) 110

(©) 131

(D) 9

ffaRaa Sameti &1 dIF—-a1 SISt 3
¥ = 87

(A) 1,2

(B) 5,24

(C) 7,50

(D) 6,35

(A) A
(B) C
(©) B
(D) D

SET-A-A



Q39 Some of the given equations are solved

on the basis of a certain system. Using the
same system, find the correct answer from
amongst the four alternatives for the
unsolved equation.
45-25=2,

78 —45 =3,

61 -40="7?

(A) 1

©) 2

(B) 5
(D) 6

PSG2 The bar chart below shows the production

Q40

Q41

Q42

MS-1

of different cereals over the years in
hundreds of tonnes. Study the given
information and answer the question that
follows.

Which crops were produced in the same
quantity in two different years?

(A) Rice and Jowar

(B) Jowar and Maize

(C) Rice and Maize

(D) Rice, Maize and Jowar

The difference in quantity between the
lowest and highest production of any crop
is approximately:

(A) 10 tonnes

(B) 8 tonnes

(C) 800 tonnes

(D) 10,000 tonnes

Rice production figures between 2004 and
2007 show a:

(A) 5% drop

(B) 55% drop

(C) 55% increase

(D) 5% increase

15

Q39 = fou v el B vh Af¥Ed

JUTTell & SR TR gel v 1ar 2 | S
JUTTell & MR W =1 Y 7T 3rgerst
TR & fou aR fawedl § 9 8
IR BT Udl T |

45-25=2,
78 —45 =3,
61-40="
(A) 1 (B) 5
(©) 2 (D) 6

PSG2 < fear ar ard fUwe a9l # faff=

TSI & IaTed Bl A 7 #H yefig
HRAT | & T3 STHBRT BT JETIT B
R f=forRaa usT &1 SR T

]

Q40 <1 fafi=T auf # S B! BT SATEH

Q41

Q42

TUHAAT AT H gaNT?

(A) TEA 3R AR

(B) OR 3R AdawI

(C) aTde 3R AdH]

(D) 9T, HadhT IR IR

foel ff v & =9 3R ST
IATE & I 7T BT FAR HII—hYd
fape=r 87

(A) 10

(B) 8 e

(C) 800 T

(D) 10,000 9

2004 ¥ 2007 & 99 AEA IAEH B
3Nds Ig T &

(A) 5% DT BHT

(B) 55% b1 DA

(C) 55% @ gfg

(D) 5% @1 gfg
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Q43

Q44

Q45

Q46

In which year did maize register a nearly
three times increase in production?

(A) 2005

(B) 2004

(C) 2006

(D) 2007

In which year did all three crops register
an increase in production over the
previous year?

(A) 2004

(B) 2005

(C) 2007

(D) 2006

In which year was almost double the
quantity of jowar produced compared to
the previous year?

(A) 2006

(B) 2007

(C) 2004

(D) 2005

Which crop registered the largest dip in
production in which year, when compared
to the previous year?

(A) Jowar in 2007

(B) Maize in 2006

(C) Ricein 2005

(D) Jowar in 2006

PSG3 The pie chart below presents data on the

MS-1

most favourite writer as stated by 300
school children. Study the given
information and answer the questions that
follow.

Enid Blyton

16

Q43

Q44

Q45

Q46

Al & IcdTad H fbd 99 ¥ O Tom
e g &7

(A) 2005

(B) 2004

(C) 2006

(D) 2007

frd af # ) 9wl & Sared |
fUsel af @ o afEg &8 =7

(A) 2004

(B) 2005

(C) 2007

(D) 2006

g af § SR &1 SAeH fUsa af &1
o1 H T QIO BT AT oY

(A) 2006

(B) 2007

(C) 2004

(D) 2005

fod a9, fbd Bad & IdeT H ol
Y I Jol 1 1 Fad 31w RTae g?
(A) 2007 § WR
(B) 2006 # Ad@T
(C) 2005 # =Mae
(D) 2006 § WR

PSG3 Fa feam T ug—=are faeme & 300

gTal gRT 9aV U e 78 d gHalar
Ed B el BT IR dar g1 &
Mg TIHBRT BT UghR A AU T g1
P IR T
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Q48

Q49

Q50
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What percentage of children stated ‘Enid
Blyton’ as their favourite author?

(A) 10%

(B) 16.6%

(C) 12.4%

(D) 9%

How many more children like Enid Blyton
and Ruskin Bond than the number of
children who like JK Rowling?

(A) 10

(B) 20

©) 1

(D) 5

If one-fifth of the children who like Enid
Blyton decided to drop out of the survey,
what would be the new percentage of
children who like Enid Blyton?

(A) 13.79%

(B) 11.4%

(C) 10%

(D) 9%

If 10% of the children who stated JK
Rowling as the favourite author changed
their preference to Roald Dahl, what will
be the new percentage of children who
like Roald Dahl?

(A) 17.14%

(B) 71%

(C) 23.6%

(D) 20%
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Q47

Q48

Q49

Q50

forae ufderg st 9 ‘tfve sseT @l
YT THEIGT olgd §arT 27

(A) 10%

(B) 16.6%

(C) 12.4%

(D) 9%

S AT BT TS B aTel geal d
AT B gor T H o @1 = uirs
s 3R IRBT divs I THg B
g?

(A) 10

(B) 20

©) 1

(D) 5

Ife ufie «lged &l U6 R aret 1/5
ool 59 AT ¥ qTeR et &1 ok
oI € O UfrS TSe Dl Ide 6y dial
gl HT AT gfaerd a1  8RTT?

(A) 13.79%

(B) 11.4%

(€) 10%

(D) 9%

afd ST RAfRT BT IJUAT TRASIGT oD
gd™ arel 10% §=d Jce STed & uel
3T TN gael o © df oS S[Ed Bl
UHq 6] dlel ddi Bl =17 gfcrerd &
BRIT?

(A) 17.14%

(B) 71%

(C) 23.6%

(D) 20%

SET-A-A
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Q52

Q53

Q54
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GENERAL KNOWLEDGE

Regional Centre in Lucknow is
designed to provide working facilities to
the artists in the disciplines of printmaking,
sculpture, ceramics and painting.

(A) Jawahar Kala

(B) Lalit Kala Akademi
(C) Vastu Kala

(D) Correa Kala

The Board of Control for Cricket in India
(BCCI) has signed a Letter of Intent (Lol)
with the UN Environment to promote
cricket in India.

(A) safe

(B) green

(C) red

(D) white

Who among the following was given the
‘Chief Minister of the Year’ award for her
remarkable work in e-governance at the
52nd Skoch Summit held in New Delhi?
(A) Sheila Dixit

(B) Sushma Swaraj

(C) Uma Bharti

(D) Vasundhara Raje

Turkey’s president won the
re-election in June 2018 and is now the
most powerful president in Turkey’s
history.

(A) Selahattin Demirtas

(B) Recep Tayyip Erdogan

(C) Muharrem Ince

(D) Cundullah Fidan

The first or early phase of Indian
Nationalism is also termed as the

Phase (1885-1905).

(A) Terminal

(B) Initial

(C) Moderate

(D) Critical
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Q51

Q52

Q53

Q54

Q55

G H &N g, fieAfdT,
Affwer, Sl & a=aq IR RFder &
vl #§ PATBRI DI BRI FfAemd v
P b forg i fdar g

(A) STETER Pl

(B) ofeld &l JfbraH!

(C) arg el

(D) BRY EHell

s 3B Bl BR fhbe g9 sfear
(@3 Arems) 7 R fhare
ST 9QM@T < B Y YUAFEARRIC &
AT U MR U (V.. 3TT8) TR EXCIeR
fby € |

(A) RfereT

(B) &1

(C) ofref

(D) \hg

5 faeell § Mg 52d wpia A
H 3T H SHd Seol@H T BH B
fore fa=ifeRaa & & fhae! e fAfex
3 & $IR YHR fear mar?

(A) e <ifera

(B) AT @RS

(C) SBHT HRell

(D) TG TS

ST 2018 | ol @ M

fiR & gaa # Siid @ik e@ gal @
sfoes # a9 wrfpemen Irgufa € |
(A) AeEsH SfAcH

(B) R¥u 0= garA

(C) ge¥d g

(D) Bgeete foar

ARAI (AT B Ul AT URMD TROT
Eall 7RO (1885-1905) I @al
ST B |

(A) 3ifaH

(B) IRfWH

(C) #=gH

(D) HHeg
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Mahatma Gandhi founded the Satyagraha
Sabha in

(A) December 1920

(B) March 1918

(C) February 1919

(D) April 1921

was the first Indian leader to start
an agitation for political reforms in India.
(A) Subramania Iyer
(B) Raja Ram Mohan Roy
(C) Ananda Charlu
(D) Mahatma Gandhi

Which of the following actors has been
honoured with the Chevalier de L’Ordre
des Arts et des Lettres (Knight of the
Order of Arts and Letters) by the French
Government for her contribution in
strengthening Indo-French ties in Cinema?
(A) Kangana Ranaut

(B) Kalki Koechlin

(C) Priyanka Chopra

(D) Deepika Padukone

On 28 December 1885, the Indian
National Congress (INC) was founded in
the premises of Gokuldas Tejpal Sanskrit
School at

(A) Delhi

(B) Bombay

(C) Calcutta

(D) Madras

The
Mahatma Gandhi’s first Satyagraha and a
major revolt in the Indian Independence
Movement.

(A) Kheda

(B) Quit India

(C) Civil disobedience

(D) Champaran

_ Satyagraha of 1917 was
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Q56

Q57

Q58

Q59

.Q60

AR TR 9 AATTE T & XTI
H Dl

(A) feaR 1920

(B) A/d 1918

(C) ®aNI 1919

(D) e 1921

AR ¥ ASTHITS GIRI &
fTQ a7aTe gRe PR dlel Ugel WIRA
qar o |
(A) gHuAT 3R
(B) XTSI XM HIgE 3>
(C) 3g aRef
(D) HETCHT el

R & SSI-WiART Hael Bl Aogd
99§ S99 AFTeM @ forg iR
WRER gR1 F=falRaa # 9 fars ifamrar
P FaferR 1 TA ifs $F A Te
S g (Knight of the order of Arts
and Letters) ¥ T#IfAT far ar &7
(A) BT AT

(B) ®fed draferd

(C) g Amer

(D) ST qIg=

28 faHaR 1885 &I, AR [T HIIA
(3TS.TA.9T) BT AU MGAGTH ToTdTed
AP Thol B IRAR H, H
gs ol |

(A) faeett

(B) §%

(C) Db

(D) HaTH

1917 a1 IATUE  HETH]
T BT g8l AAWE o 3R ¥R
TSI 3T o U g7 fagg o |
(A) Gsr

(B) 9RT BIel

(C) AFR® 3as

(D) =gTRoT
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Q62

Q63

Q64

Q65
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India’s football team captain
jointly holds the position of the second
highest international goal scorer among
active players along with Argentina’s
Lionel Messi.

(A) Subrata Pal

(B) Sunil Chhetri

(C) Bhaichung Bhutia

(D) Gurpreet Singh

The Haryana Assembly unanimously
passed Criminal Law (Haryana
Amendment) Bill, 2018 providing for the
death penalty for convicts found guilty of
raping girls aged

(A) 13

(B) 12

(C) 14

(D) 15

years or less.

In 1866, organised the East India
Association in London to discuss the
“Indian question” and to influence British

public officials to promote Indian welfare.
(A) Dadabhai Naoroji

(B) Mahatma Gandhi

(C) Bipin Chandra

(D) Jawaharlal Nehru

India accounts for over of the
global cotton area.

(A) one-third

(B) one-fifth

(C) half

(D) one-fourth

Indian agricultural contribution to the
national gross domestic product (GDP)
1s about %.

(A) 38

(B) 35

(C) 25

(D) 15
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Q61

Q62

Q63

Q64

Q65

IR fedldd T & HI

ISIEHT & o 3l & |1 Afhy
Reenfeal & dra |aifds Ma d=A el
TR AR R £ |

(A) gad dret

(B) gt &0

(C) a1 *ffem

(D) v Rig

gRaron faemawyr | adww=fa @
IMURTIES B (FRATOM Feler) 2018,
fagrres aiRa foar, < AT
T ST BH SH DI AS(HAT I TADHR
@ <l Iy Y Sifgehl & o A @
TSI BT UG BT ¢ |

(A) 13

(B) 12

(C) 14

(D) 15

1866 H, YRA & F<H # Tdl &R+ iR
YRATI BT BT geTdT o & forg fafesr
Ardsife FAfABTRAT BT yAqTfad B H
fou dew # s sfear vaikiueE &1
MRS foaer foar?

(A) TGS ARG

(B) HETHT

(C) faU™ =g

(D) STarER el 8%

If¥qe HUNT SATe H WRA &1 =Bwr
NECIECR

(A) T& forerg

(B) e dferar

(C) 3mer

(D) U& g

IR & Idhd B¢l TG (SISidn) #
HY AT T % T |
(A) 38
(B) 35
(C) 25
(D) 15
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Which of'the following is NOT one of the
main defects of agricultural marketing in
India?

(A) Lack of storage facility

(B) Lack of transportation

(C) Favourable mandis

(D) Lack of market intelligence

UP shares its borders with the maximum
number of states. Which of the following
states is NOT one of them?

(A) Uttarakhand

(B) Odisha

(C) Madhya Pradesh

(D) Jharkhand

Lake is the largest brackish water
lake of India. It is also the largest lake of
India.

(A) Dal

(B) Chilika
(C) Wular
(D) Didwana

soil is by far the largest and the
most important soil group of India.
(A) Red
(B) Black
(C) Alluvial
(D) Laterite

Which city is known as the ‘steel city of
India’?

(A) Mumbai

(B) Kolkata

(C) Kochi

(D) Jamshedpur

Who was honoured with the 2017
Hridaynath Mangeshkar Award at an event
in Mumbeai?

(A) Shashi Kapoor

(B) Amitabh Bachchan

(C) A.R.Rahman

(D) Javed Akhtar

21

Q66

Q67

Q68

Q69

Q70

Q71

gTH 9 D 91 9Rd H PV AgvE &
R TN H ¥ Yh AR 27

(A) YSRUT e &I DAl

(B) URTEd @l HHI

(C) 3rgamet He
(D) ATdhe Scfofold & HHY

SR U< BF AFTifeld AT Fatferd et
®1 el et 7| FEfalad § @ o
AT ST gH I T8 27

(A) STRRIS

(B) af<srem

(C) 7T U

(D) SIRES

T IR B Fad g1 WR T
P N T IE URT B I IS7 e
Il
(A) S
(B) fretenT
(C) qeRR
(D) Srsarr

O aRa # wdifee A= #
R ST ®
(A) e
(B) el
(C) Sielig
(D) WlexTge

e weR @I e R 3ife sfeame &
A | SIET ST 87

(A) Ta%

(B) BreIdral

(C) difea

(D) SHIGYR

Has H IR U S9RIE | fhd gl
BT 2017 & FEIARS HIRPR JREPR A
I far wTar?

(A) AR xR

(B) HdM™ 2

(C) U. JR. IEAM

(D) TS 3R&R
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Q73

Q74

Q75

Q76

Q77
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There are
India.
(A) 17
(B) 12
© 9
(D) 7

international airports in

Gatimaan Express is a semi high speed
train that runs between New Delhi and
Agra with a maximum speed of

km/hr.

(A) 120

(B) 140

(C) 130

(D) 160

Which of the following is NOT a west
flowing river in India?

(A) Narmada

(B) Sabarmati

(C) Luni

(D) Krishna

India has about
(A) 11
(B) 18
©) 15
(D) 12

major ports in all.

The Constitution of India was adopted by
the Constituent Assembly on and
came into force on 26th January 1950.
(A) 29" October 1949

(B) 22" December 1949

(C) 26" November 1949

(D) 3 January 1950

National Panchayati Raj Diwas (Day) is
celebrated every year in India on

This day marks the passing of the
Constitution (73rd Amendment) Act
1992.

(A) 26 June
(C) 12 August

(B) 24 April
(D) 23 September
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Q72

Q73

Q74

Q75

Q76

Q77

IRA F AR gaTE I
(A) 17
(B) 12
() 9
(D) 7

A TR T 94T 818 s ¢ =

ST A3 faeell IR PRI & 1 S1fdrdhad
fhanfier ufa gie & 7fa I gereh

=

(A) 120

(B) 140

(C) 130

(D) 160

STH A B A T wRd H e fow
H ggdl 4T T 2?

(A) TT¥aT

(B) ATERH!

(C) e

(D) pwm

AR ¥ T T 3R B |
(A) 11
(B) 18
©) 15
(D) 12

H JMUFRIT AT o 3R 26 STHa! 1950
BT T GAT T |

(A) 29" 3fFCaR 1949

(B) 22 fGHaR 1949

(C) 26" Fd&R 1949

(D) 3" SEa’T 1950

i 9v YRT H T GG o feas
(fe=) P FARIT AT B IS
o \fqer (73t HerM) 1 1992
& SINT 8 &1 Idid 2 |

(A) 26 SH (B) 24 3

(C) 12 3R (D) 23 fadeR
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Q79

Q80
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The Schedule of the Constitution
of India contains provisions regarding the
administration of tribal areas in the states
of Assam, Meghalaya, Tripura and
Mizoram.

(A) fifth

(B) tenth

(C) sixth

(D) fourth

The 73rd Amendment 1992 added a new

Part IX to the Constitution of India titled
covering provisions from Article

243 to 243(0).

(A) The Minor

(B) The Judiciary

(C) The Panchayats

(D) The Houses

Which Article of the Constitution of India
deals with protection of monuments and
places and objects of national importance?
(A) Article 48

(B) Article 48A

(C) Article 49

(D) Article 50

Mahatma Gandhi advocated a
economy.

(A) Local

(B) Centralised

(C) Decentralised

(D) Global

For Mahatma Gandhi, was the
“symbol of unity of Indian humanity, of
its economic freedom and equality”.

(A) Khadi

(B) Wheel

(C) Salt

(D) Yarn
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Q78

Q79

Q80

Q81

Q82

YRA & Afaas @ Al H
1A, HeTerd, QR 3R fAsiRA st #
SO &3 & U9IE & gey o
TTen 2 |
(A) Tt
(B) Tl
(C) Bl
(D) @reft

739 e e, 1992 & §RT MR
NIECIGR] v 9 U uRess
IX SITST T1T ST 3T2ea 243 9 243 (O)
Cg

TTGET Hax BT © |

(A) 3YEEIDH

(B) =arauTfetant

(C) Yamgd

(D) &

YR & LT BT DI AT IS IS
A8 & WIR®T IR RIMT 31R a3l Bl
el ¥ T 77

(A) BT 48

(B) 3JT0T 48A

(C) 3T =g 49

(D) 3T 50

T el A JreferaRern a1
JhTAd B |

(A) R

(B) Bl

(C) fadsiigpd

(D) Tadd

e e & forg, . “YRAM
qMEddT bl Udhdl, s9dT e Tad=rdn
IR FAHAT BT Uelip” o |

(A) @

(B) ufgar

(C) THH

(D) gmm
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Which of'the following is NOT one of the

important reforms in the banking sector

in India.

(A) Reduced cash reserve ratio (CRR)
and statutory liquidity ratio (SLR)

(B) Deregulation of interest rate

(C) New generation banks

(D) Increased SLR

According to the Forest Survey of India,
the actual forest cover of India is

of the geographic area.

(A) 17.23%

(B) 18.5%

(C) 21.54%

(D) 20.67%

The acts as a buffer between the
CPU and the main memory.

(A) primary memory

(B) cache memory

(C) secondary memory

(D) RAM

The Yogi Adityanath government in Uttar

Pradesh has teamed up with the Union

Human Resource Development ministry

to develop an “overarching framework for
reform” in Uttar Pradesh.

(A) school education

(B) environment protection

(C) road safety

(D) electricity for all

in Uttar Pradesh that
Buddha preached his first sermon and laid
the foundations of his order.

(A) Kushinagar

(B) Sankisa

(C) Sarnath

(D) Shravasti

It was at
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Q84
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Q87

g8 O B9 9 9Rd § dfeT & #

FEd Ul GURI H 9 T 81 7 |

(A) T g5 ¥ 3R, 37R. 3R TH. Tal.
3.

(B) =TSl &R HT fAf-raes

(C) 7E WGt dab

(D) Tfefd TH.USIR.

I fPTT & FAeTOT & G, WRA Bl

aRdfad 99 dax dImfas a3 BT
=

(A) 17.23%

(B) 18.5%

(C) 21.54%

(D) 20.67%

DL THHT SH1g (CPU)
IR I WA & 919 U 99 & WU H
BT BT B |
(A) vrifds i
(B) $¥1
(C) #reufdes wfa
(D) Irgfee® ST Tfd (RAM)

SR U # Al snfew e WRaR A
BT A AT b Jaerd & arer
TR IR Jaer 9 BSCIN
HH SSMT 2 |

(A) faemer forer

(B) TITaRoT HReqor

(C) ISP et

(D) 99 & forv faoielt

SHMERICD ¥ gg 7 AU
gl SUY faar 3iR eme wrifafer o1
g &l |

(A) FITR

(B) <fdrerm

(C) R

(D) SITa=iT
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In January 1858, Lord Canning proceeded
to and formed the North Western
Province excluding Delhi division.

(A) Ahmedabad

(B) Allahabad

(C) Bhubaneshwar

(D) Travancore

On , a new state called

Uttarakhand was carved out from the
Himalayan hill region of Uttar Pradesh.
(A) 7™ December 1999

(B) 9" November 2000

(C) 23" October 2000

(D) 4™ March 2000

is one of the most spectacular folk
dances of Uttar Pradesh. The dance
involves a tough balancing act in which a
veiled female dancer performs with 108
oil lamps placed on a wooden pyramid
platform on her head.
(A) Raslila
(B) Ramlila
(C) Khyal
(D) Charkula

Uttar Pradesh is one of the country’s major
producers of

(A) timber

(B) coffee

(C) sugarcane

(D) leather

, having been designated as the
Governor of Uttar Pradesh by the
President of India on 14th July 2014, took
the oath of office on 22nd July 2014.
(A) Hriday Narayan Dikshit
(B) Yogi Adityanath
(C) Ram Govind Chaudhary
(D) Ram Naik

25

Q88

Q89

Q90

Q91

Q92

STHaRY 1858 #, dfe B a®
Tl U 3R ficel Ao & Breds
IR U Uid &1 oA fhar |

(A) IEAGEE

(B) ScIgIaTE

(C) Yoz
(D) FTEATDHR

Pl IR U © AT Bl
&3 ¥ STRNGS AP Uh =T oY IR
H e |
(A) 7 f&aR 1999
(B) 9 FGa~ 2000
(C) 23 3FcaR 2000
(D) 4 A1d 2000

SR TS & e IAFER ATh
T H A U & | 39 el H U R
Aftell Tdd! RR R dds! & RIS @
H9 R TH AT 108 @Y /I IR A
P 2 |
(A)TITI??IFIT
(B) el
(C) @It
(D) ARGl

IR I 9 & T SRUECH]
HH U T

(A) B

(B) oY

(C) =T

(D) =T

9RT & MU T 14 Jerg 2014 BT
SR U & SIUTd B w9 H AIET
fbu &1 & a1 q 22 oIS
2014 &I Y @I AU ol |

(A) g AR Siferd

(B) arfY anfacg=rer

(C) Y™ Mfdg ANy

(D) M AEH

SET-A-A
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Q93

Q94

Q95

Q96

MS-1

Uttar Pradesh is the most populous state

of India, and its population density is
per sq. km as per the number given

by Census 2011.

(A) 829

(B) 330

(C) 760

(D) 650

The new Uttar Pradesh Civil
Promotion Policy 2017 has been
introduced to promote investments and
trade in Uttar Pradesh. The policy will also
promote tourism in the state.

(A) Service

(B) Aviation

(C) Tourism

(D) Trade

Owing to the Uttar Pradesh state’s large

base of it has emerged as a key

hub for IT and ITeS industries, including
software, captive business process
outsourcing (BPO) and electronics.

(A) agricultural products

(B) tourist destinations

(C) skilled labourers

(D) vast culture

Peripheral devices connect to a computer
system to add functionality. Which of the
following is NOT a peripheral device?
(A) Mouse

(B) Scanner

(C) Printer

(D) Motherboard
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Q93

Q94

Q95

Q96

SR U YRT BT T 3ffSd Imaral
Tl M 8, 3R ST 2011 A &
g G & AJAR D! AMETal e
_ yfy o f fe g

(A) 829

(B) 330

(C) 760

(D) 650

IR TS H 499 IR IR BT derdr
29 & fav 93 SR uey fufad

Haed HIfT 2017 U B TS
2| N = # gdeq &1 ff gerar < |
(A) afds
(B) faAm=
(C) e
(D) IR
SR QY A B BT Gl
YR 31s <1 3R 3M1g <1 30 AN &

fou 6 U &% @ wU H W T,
o divedaR, dfted o= ueas
JMSSHIRTT BPO (d1d13M) 8iR Setagi-ia
omier € |

(A) P g

(B) TcH Jerd

(C) DIETql s1ffd

(D) faemer wepfa

R IUSROT HRIGHAT Siie & oIy
Fex RiveH & Foae B & | fRfeafaa
# 9 @ A gk Suyawer T8 7?
(A) HATSEH (Mouse)

(B) ¥R (Scanner)

(C) 9= (Printer)
(D) A} dI€ (Mother board)
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Q97

Q98

Q99

The

computer is the most
common type of computer. It is used to
process information with quantities
usually using the binary number system.
(A) hybrid

(B) digital

(C) analog

(D) complex

Which of the following is NOT a way in

which a virus can infect your computer?

(A) Sharing music, files or photos with
other users

(B) Creating documents and PDF files

(C) Opening spam email or an email
attachment

(D) Downloading free games, toolbars,
media players and other system

utilities

The Second Generation of computers
were witnessed in the years from:

(A) 1940-1956

(B) 1963-1972

(C) 1957-1962

(D) 1973-Present

Q100 Third generation of computers were

MS-1

witnessed in the years from
(A) 1940-1956

(B) 1963-1972

(C) 1957-1962

(D) 1973-Present

27

Q97 PIYER BT FaW A UK T |
SAGT STINT MH AR WR fFemasy dwn
YUITell BT SYANT RS AARN & 1T
SR BT HaTed & & forg foar
ST B |
(A) ETEfis
(B) fSfSreat
(C) TATART
(D) HIFid
Q98 fmferRad & & 19 1 Uoh Sl &1 2,
ST U aRR™ 3D HRICR D AehHd
PR AHT 87
(A) 3 STINTHARN & AT I,
AfadTe (Brsed) a1 At A=t
BHRAT

(B) Wer 3R PDF (f1. 1. U%.) AfaaTy
(rgew) g

(C) T $HS AT SHA Hel - Wrerl

(D) Fregled Wl (1), TotaTd, Wifsar
RN 3R 3T HuTell SuAfTaTait
DI STSTATS HRAT

Q99 PR B N W (Hhs TIE)
fpd RE <Y T8 20?

(A) 1940-1956
(B) 1963-1972
(C) 1957-1962
(D) 1973-acHE

Q100 Iy A FIg UG B PSR DI
TN IR GIAT o |

(A) 1940-1956
(B) 1963-1972
(C) 1957-1962
(D) 1973- 9aH o=
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Q101

GENERAL SCIENCE

Which among the following is an example
of a class II lever?

(A) Wheel barrow

(B) Forceps

(C) Tongs

(D) Knife

Q102 What is the unit of electrical current in SI

Q103

Q104

Q105

Q106

MS-1

system?

(A) Watt
(B) Volt
(C) Candela
(D) Ampere

The force exerted by a charged body on
another charged or uncharged body is
called:

(A) Magnetic force

(B) Electrostatic force

(C) Gravitational force

(D) Mechanical force

Which among the following holds true for

friction?

(A) Friction opposes motion

(B) Friction doesn’t cause wear and tear

(C) Friction doesn’t cause waste of
energy

(D) Friction doesn’t produce heat

In comparison to liquids, the arrangements
of atoms in solids are:

(A) far apart

(B) not closely packed

(C) very closely packed

(D) less closely packed

Which among the following is a chemical
change?
(A) Burning of crackers
(B) Heating of magnesium wire
(C) Drying of clothes
(D) Dissolving of sugar in water
28

Q101 f=fearlaa # 9 &9 a1 fAwey, T 10

SR BT ISTERIT 87
(A) B R

(B) BRIY

(C) c=4

(D) -Ig®

Q102 fISTell & TRe &I THSE JfT T &7

(A) @i
(B) dree
(C) el
(D) TR

Q103 3R T TS T ¥ &N Bl /=y

AR BT TS IR AAAT AR 7T DY
T§ 9% W N ¢ I BT AT Had
g7

(A) gabIa g

(B) faga=afds o

(C) THATHYT q
(D) Iif3® It

Q104 T¥ur & ey # f=falRad 5 & &9 w1

fadpea w1 27

(A) G997 TfT BT ORI BT &

(B) T4l Te—Hhe & HRUT T8I BT B

(C) =¥ ¥ SHofl T &l 8l §

(D) B4 ¥ IW[AT BT 3G -Tal sl
g

Q105 TRl Ut &I g H, 3N Uard H

TRATA BT STaReyTIe fhe avg gram 27
(A) [ e

(B) IRI& A &} 99 B ©

(C) 9gd IR & d B &

(D) ®F INIHT W §¢ B 8

Q106 f=feiRaa & & &= a1 IRafAE gRad+

27?
(A) USTEl BT STt
(B) ATHIRRIH TR &1 TRA BT
(C) BUS GEI
(D) Uil ® N BT et
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Q107 Which of the following is the symbol of
lead?
(A) K
(B) Pb
(C) Au
(D) Na

Q108 Who discovered Protons?
(A) James Chadwick
(B) John Dalton
(C) Ernest Rutherford
(D) Eugen Goldstein

Q109 Siliconis a
(A) metalloid
(B) metal
(C) non-metal
(D) noble gas

Q110 Blood enters the kidney through the
(A) external iliac artery
(B) renal artery
(C) axillary artery
(D) ulnar artery

Q111 Whatis lactose intolerance?

(A) Itis a condition in which the small
intestines are unable to break down
the sugars found in dairy products.

(B) It is characterised by adverse
reactions to gluten.

(C) Itis a condition whereby fructose is
not efficiently absorbed into the
blood.

(D) Itis a condition in which the small
intestines are unable to break down
gluten.

Q112 Which among the following is the body’s
largest internal organ?
(A) Kidney
(B) Stomach
(C) Liver
(D) Lung
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Q107 fA=faRaa & & &9 A1 fAdey, o &1
fae ?°?
(A) K
(B) Pb
(C) Au
(D) Na

Q108 f=ferRad # & foae We & @IaT &f
of?
(A) SR drefd®
(B) SiF STeeH
(C) TRE BaHIe

OESERIGSE

Q109 fafere™= w1 8°
(A) STETg
(B) &rq
(C) =mE1g
(D) et

Q110 =H
BT B |
(A) 9T SOTHwEA
(B) I &FA
(C) e ga-il
(D) SITHBINRSHT a1

& HAEEE W S H gae

Q111 VIS SleNd RIT 87°

(A) &N Refq w8t BT sriafear, gy
SRl # Hiog dFl B drg el
Iry 8

(B) e & ufd fauwdia ufafhad, sdant
faQmyar g &

(C) I Reafy STEf e &b § [
TRE 9 9Rg Tal forar Sirar 8

(D) WA Rerfer wreh, B1eT srafeat, woe
P ArS 8l UKl B

Q112 fAfRea & & &9 w1 fdded, IR &1
I g7 TR 3T 27
(A) Tef
(B) Ue
© SRR
(D) BHST

SET-A-A



Q113

Q114

Q115

Q116

Q117

MS-1

Which among the following is composed
ofnerve fibres that mediate reflex actions
and that transmit impulses to and from the
brain?

(A) Motor neuron

(B) Spinal cord

(C) Cerebral Hemisphere

(D) Cranial nerves

Where in our body does 90% of our total
nutrient and mineral absorption take
place?

(A) Kidney

(B) Large intestine

(C) Stomach

(D) Small intestine

The deficiency of which of the following
vitamins in children causes rickets?

(A) Vitamin B

(B) Vitamin A

(C) Vitamin D

(D) VitaminE

Select the vitamin deficiency disorder in
which major symptoms are dark red
patches that occur on the face, neck,
hands, calves and feet.

(A) Pellagra

(B) Beriberi

(C) Scurvy

(D) Nightblindness

Based on United States Department of
Agriculture (USDA) guidelines what
should be the daily calorie intake of
sedentary men and women over 30 years?
(A) 1,000 to 1,400 calories
(B) 1,000 to 2,000 calories
(C) 1,600 to 2,400 calories
(D) 1,600 to 1,800 calories

30

Q113

Q114

Q115

Q116

Q117

f=ferRaa & | I A1 df3dT BrsaR |
g1 ® o ufafde foraret & wemmerdn
AT ® 3R ST ARASs &I 3T &1
G-V Bl 87

(A) e ¥Y ()

(B) Aocs

(C) yHRaSH ety

(D) HUTAT

AN IRR ¥ G U¥e @i qei @it
BT 90% IRR B fbsd 91T § Faifels w9
I Arg foram Sirar 27

(A) T&i

(B) 91 3ics!

(C) Ue

(D) BIET 3

frfeRaa & 9 foa A= & &0 4
Fedi § @ I (Rave) s AR et
BT 57

(A) faere= €t

(B) faerfem ¢

(C) faers S

(D) faerf= §

fr=falRaa & 9 89 faefq o &0 9
oo 1 g R B US| Al ST
gl I~ BId ¢ |

NG

(B) XTSI

(C) wbdi

(D) i

YD 5T JAANRBT Gy g
(ZuaSIY) feenfes & o aR 30 At
H 31fed 39 & MiShy goui oiR Afgaredl
®I gfafed fbds AR GrIb BT Ha
BT AMRY?

(A) 1,000 9 1,400 AR

(B) 1,000 ¥ 2,000 HeART

(C) 1,600 ¥ 2,400 DR

(D) 1,600 ¥ 1,800 DR
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Q118 Identify the scientist who discovered the

vaccine for small pox.
(A) Edward Jenner
(B) EvaEngvall

(C) Louis Pasteur
(D) Emile Roux

Q119 Which among the following is NOT a

mosquito-borne disease?
(A) Dengue

(B) Zika

(C) Chikungunya

(D) Ringworm

Q120 The process of evaporation of water

Ql21

MS-1

through minute pores or stomata from the
leaves of plants is called:

(A) Condensation

(B) Sublimation

(C) Transpiration

(D) Precipitation

According to National Health Service
(NHS), UK and U.S. Department of
Agriculture, what should be the calorie
intake of an adult active man?

(A) 2500 calories

(B) 1500 calories

(C) 2000 calories

(D) 3500 calories
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Q118 fA=feiRad & & fhw dsnfaed 7 <=

2q <SPl BT @iol fdbar orr?
(A) TSTE SR
(B) =1 Uirare
(©) F& TR
(D) Uffell Jfad

Q119 fA=ferRad & & P AT 78R A I

T ET 2?
(A) ST
(B) fotapr

(©) fagTIfTa
(D) Te (Rera)

Q120 drii o1 uftrdl & 9ga BIC gl srem@r

Ql21

THET & SIRY UM @& aTsIdhRol &l
T HEd 27
(A) DA
(B) Sfectoer
(C) wrafoRes
(D) ufafuce

el Beel A (TA.ge.TN), gob 3R
309, feurede aifh Uiidedr & 9K,

WD Afhd FRE BT AN AdT R
BT =112Y?

(A) 2500 DART

(B) 1500 ®eIRI

(C) 2000 HARY

(D) 3500 DART
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Q122 Deficiency of which of the following Q122 P BHH A FE@REIGR AHD

component of food induces a disorder fIPR IU= BT B |
known as ‘kwashiorkor’? (A) BPEEEST

(A) carbohydrates (B) WicH

(B) protein (C) @fot uaref
(C) minerals (D) a4

(D) fats

Q123 Which of the following is essential for Q123 AYRMA & T 3R 981 iR TS

building, repairing and growing muscle g & fory f=faRad & & dF w1
and building antibodies? NMaTTH B?
(A) Protein (A) IS
(B) Carbohydrates (B) @TEEIESC
(C) Vitamins (C) faer=
(D) Calcium (D) Dfcer™
Q124 What is the S.I. unit of pressure? Q124 <919 BT TH.ITE. e w1 g7
(A) Meter (A) #Hrex
(B) Kelvin (B) dfeas
(C) Pascal (C) Upd
(D) Newton (D) ~gec+

Q125 In photosynthesis, light energy is Q125 UPHTI—{INT H A fod ol #

converted into . gRafdd & S 87
(A) thermal energy (A) Y ol

(B) heat energy (B) T SHoll

(C) mechanical energy (C) Iif3d Hoft
(D) chemical energy (D) IS ol
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ARITHMETIC

Q126 Evaluate the following equation: Q126 f=ferRad THHROT B BT BN
36-2(20+12+4%x3-2%x2)+12="° 36-2(20+12+4x3-2x2)+12="°
(A) 2 (A) 2
(B) -2 (B) -2
(C) 4 (C) -4
(D) 4 (D) 4
Q127 Evaluate the following equation: Q127 fa=ferRad THaxoT &I BT BN
(449+144)* —(449-144)" 0 (449 +144)° — (449 -144) 0
2(449x 144) 2(449x144)
(A) 1 (A) 1
(B) 2 (B) 2
(©) -2 (€) -2
(D) -1 (D) -1
Q128 Find the value of /0.8 (correct to 3 Q128 .f0.8 T AN &1 BRI?
decimal places). (A) 0.964
(A) 0.964 (B) 0.694
(B) 0.694 (C) 0.984
(C) 0.984 (D) 0.894
(D) 0.894
Q129 Evaluate the following equation: QI29 B3+ 11%x22+6)—(9+4x12+3)+
B+11x22+6)—(9+4x%x12+3)+ (25 + 11 x 22 +10)=? &I IR HT
(25+11x22+10)="? BITT?
(A) 5 (A) 5
(B) -3 (B) -3
©) 9 ©) 9
(D) -9 (D) -9
Q130 Find the value of x. Q130 x T A9 AT BN |
121 1.21 121 1.21
121 x 121 x
(A) 0.00121 (A) 0.00121
(B) 0.121 (B) 0.121
(C) 0.0121 (C) 0.0121
(D) 1.21 (D) 1.21
Q131 LCM of 102, 112 and 122 is: Q131 102112, 3R 122 & YA AU
(A) 435600 (B) 453600 (TA AT TA.) 1 BRMT?
(C) 345600 (D) 654300 (A) 435600 (B) 453600
(C) 345600 (D) 654300
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a’’ s 1
Q132 If7=7,then a "‘? =9

(A) 2599
(B) 2699
(C) 2207
(D) 2209

Q133 Two numbers are such that the ratio

between them is 2 : 7. If 4 is added to
each of them, the ratio between them
becomes 4 : 9. The original numbers are:
(A) 8,28

(B) 4,14

(C) 6,21

(D) 2,7

Q134 How much will ¥ 2500 amount to after 3

Q135

Q136

MS-1

years when the interest is compounded
annually at the rate of 20% per annum?
(A) T 4200

(B) T 4230

(C) T 4320

(D) X 4310

Ifthe difference between the selling prices
of a bag at profits 10% and 11% is ¥ 11,
then the cost price of the bag is:

(A) X 1100

(B) ¥ 1000

(C) T 1200

(D) X 1010

240 men can complete a piece of work in
30 days. After working for 12 days, 80
men leave. In how many days will the
entire work be completed?

(A) 27

(B) 39

(C) 32

(D) 34

34

_1 4 1
Q132 afX %=7, 2 @ (a +?]zm a1

T BAIT?
(A) 2599
(B) 2699
(C) 2207
(D) 2209

Q133 a7 Ul Sy & fTTeht Srgure 2: 7 2 |
I ST I 9D H 4 s g1 oY,
IABT SIUT 4:9 BT I 8 | ol ey
R 87
(A) 8,28
(B) 4, 14
() 6,21
(D) 2,7

Q134 At =T 20% ¥ a8 @ R | afid
Y A ARG BIaT &, a I N b 3
9Y & Tearg T 2500 P A fha &
SITQEfT?

(A) T 4200
(B) ¥ 4230
(C) T 4320
(D) T 4310

Q135 AT 10% 3R 11% & o W TP 8T B
faspa qeat &1 iR T 11 81, AT o7 &7
SR g @RI 27?

(A) T 1100
(B) T 1000
(C) T 1200
(D) T 1010

Q136 240 @fh fHA HRA—RT BT 30 o1 &
qof R Fhd © | 12 &A1 9% Bl B
% UgaTq 80 fth H BIE H ol Y |
Ao By fhae fa=r 9 qof gmme
(A) 27
(B) 39
(C) 32
(D) 34
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Q137 The distance between two stations is 400

Q138

Q139

Q140

Q141

MS-1

km. Two trains start simultaneously from
these stations on parallel tracks to cross
each other. The speed of one of them is
greater than the other by 5 km/hr. If the
distance between the two trains after two
hours of their start is 170 km, find the
speed of each train?

(A) 55 km/hr, 60 km/hr

(B) 60 km/hr, 65 km/hr

(C) 75 km/hr, 70 km/hr

(D) 55 km/hr, 50 km/hr

A train can finish its journey in 10 hours
at the speed of 48 km/hr. If the same
distance has to be covered in 8 hours, what
should be the speed of the train?

(A) 45 km/hr

(B) 50 km/hr

(C) 55 km/hr

(D) 60 km/hr

A cistern has two inlets that can fill it in
10 hours and 15 hours, respectively. An
outlet can empty the full cistern in 12
hours. If all three pipes are opened
together in an empty cistern, how much
time will they take to fill the cistern
completely?

(A) 16 hours

(B) 10 hours

(C) 12 hours

(D) 15 hours

In a day, how many times are the hands of
a clock perpendicular to each other?

(A) 44 times

(B) 22 times

(C) 11 times

(D) 88times

6™ August 1987 was a:
(A) Saturday (B) Wednesday
(C) Tuesday (D) Thursday
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Q137 &I Rl & 919 B X 400 km B | 34

Q138

Q139

I W FHMIOR ISRl R g 2 Udh
TR I AR Tdh ARSI Tl TRA Bl
21 TdH o D A T oA DI IRT B
g H 5km /h 1€ | Al M AT
@ 4 o I STb ged b 2 Hel b
ggarq 170 km B, A 9% ¢ DI A
ST Y|

(A) 55 km/hr, 60 km/hr

(B) 60 km/hr, 65 km/hr

(C) 75 km/hr, 70 km/hr

(D) 55 km/hr, 50 km/hr

TP 29 48 km/h &Y TR A 3O+ JT=T
10 =t # qof &R |l 57 IfS ol &
0 8 Hel § a7 o Bl Al oA &I i
T BF aTfRe?

(A) 45 km/hr

(B) 50 km/hr

(C) 55 km/hr

(D) 60 km/hr

U Shl H &I T ofFl 2 oIl 39 AT 10
gel @R 15 ©el § WR dahd 8 | U Ad
quid: W< HI Bl 12 HSl H @rell o
AHdT & | Al F@Tell Sdl & Al Al Dl
T 1T e AT Sy, ar el guia:
WA H fhar a8/ g e

(A) 16 TTC

(B) 10 €7C

(C) 12 gve

(D) 15 &vc

Q140 &1 & eIl U fa7 # fhal IR Us

TR @ oigaq B 87
(A) 44 9R
(B) 22 9R
(C) 11 R
(D) 88 dR

Q141 63T 1987 &I B AT fae or?

(A) TFER (B) TR
() FEER (D) TFR
SET-A-A



Q142 Ifthe side of an equilateral triangle is 6./3

cm, then find the area.
(A) 943 cm?

(B) 273 cm’
(C) 27 cm?
(D) 9 cm?

Q143 Solve the following equation to find x:
6(5x —4)=16(5x + 1)

5
) 5

4
(B) 3

5
© -3

4
(D) 5

3
Q144 If tan A = 1 then {(1+cosA)(1-cosA)/

(1+sinA)(1-sinA)}- % =?
1

() 3

B) 5

© 1
(D) 0

Q145 If the mean of the following data is 20.6,
then what is the value of p?

xi |10 [ 15 [20 [25 |35
fil3ltolp |7 [5

(A) 22 (B) 25
(C) 28 (D) 30

Q146 What is the number of elements in the
sample space when three dice are thrown

together?
(A) 216 (B) 36
(C) 1296 (D) 1026

MS-1 36

Q142 U \HETE Bl &1 ol 6/3 @dl B
RS &1 eFwd =T BN |

(A) 93 cm?

(B) 273 cm’
(C) 27 cm?
(D) 9 cm?

Q143 x &1 A9 Fd B D U FH@wRor
6(5x — 4)=16(5x + 1) B &A BN |

5
) 5

4
(B) 3

5
© -3

4
(D) 5

Q144 I tanA= % &1Ll {(1+cosA)(1-cosA)/

(1+sinA)(1-sinA)}-% BT HE T EATT?
1

(A) ¢

B) 5

©) 1

(D) 0

Q145 fa=ferRad Ser &1 A" 20.6 €1 p BT
T FIT 27

xi |10 |15 20 |25 |35

fil3 [1olp |7 |5

(A) 22 (B) 25
(C) 28 (D) 30

Q146 9 Ol @I Udh A1 B R ufaest
e (70l W) | Tl BT aer a1
BRMT?
(A) 216
(C) 1296

(B) 36
(D) 1026
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Q147 Sourin can retire when his age and the

number of years that he has worked add
to 105. At present, he is 40 years old and
has worked for 19 years. If he works
continuously until he retires, at what age
can he retire?
(A) 62 years
(C) 64 years

(B) 63 years
(D) 65 years

Q148 Gargee walks at 6 km/hr and runs at 10

km/hr. She saves 4 mins 30 secs running
instead of walking from her home to her
school. What is the distance (in km) from
her home to her school?

All
(M) 1g

3
B) 15,
Cll
© 1

1
(D) 1

Q149 The value of 2sin 30° is :

(A) 2

(B) 0.5

© 3

(D) 1

Q150 The average marks obtained by Subhayu

MS-1

in 35 tests is 24. Indrani is maintaining an
average of 21 so far but has taken only 31
of the tests so far. If each test is out of 48
marks, at least how much does Indrani
have to score in any one of the remaining
four tests to still have a chance to match
Subhayu’s performance?

(A) 44

(B) 45

(C) 46

(D) 47
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Q147 AR ®1 3y AR IHDT JaT—37afer BT

ANT 105 B UR g8 AdI-Ig<l 81 Febdll
2| adHT # SEdT Mg 40 99 B &R
I91 19 991 9% BRI fHar 81 AT a8
AT B89 dd BRI dRar &1, dl

HaT+gd B9 WR g8 fbe a¥ bl sII?
(A) 629 (B) 63 a¥
(C) 64 a9 (D) 65 Y

Q148 TRfT 6 km/hr &1 7Tf | Ferr ® 3R 10

km/h BT 7T | SISl B | 98 U TR ¥
el do o & IH W 3l BN 4
e 30 QoS &I I8I 997 odl 2 |
D TR ¥ IAD [eTed & 99 o W
(RreimiieR %) 7 7

All
(A) 13
B 1--
(B) 1
L
© 1y,

1
(D) 1¢

Q149 2sin 30° BT A R BRIT?

(A) 2

(B) 0.5

© 3

(D) 1

Q150 35 Uil § Gy & A UTdih 24

2| SO0 & 3N uraich anft dab 21 &
fohg S orfl T& Badt 31 wemd A E |
I TS wer H ifead 3iF 48 T,
Al GHTg & U&eH Bl SRMER PR B oIy
STl & U WY AR qRiersl § ¥ fd
U H B § A b 3 U1 B Bl
araaR anfl oft B ?

(A) 44

(B) 45

(C) 46

(D) 47
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HINDI
PSG4 Il & 7Y TeNY &l Ugahs JO T U=l Q156 AN U & A § B AT B

B IR IOTY [ BT AT ¥eq M | T 87
A Bl DU DI, ACID DBl AT Al (A) TF & TaH HUR YF—FAT fore
JE—fRd 2 | Sl &I dd Wl o8 4 W F
& | e STeRor— R, A, SRt (B) oo Wl & SuR fafdr ferdl Sl
— NYh RV — AT A1 e B ofd 3
IR ST S FHT 89 7 I Bl : Y o

s NI (C);fzﬁaﬁeﬁ? Tar H foram T
PR WA T gHeEr W T bddl FodT : , .
3| et B e § o 5T 709 B BEd (D)?ﬂqﬂmaﬁsﬁ?mw
W YPi 3R AT & Silad & A |

ARl & I H GIR & BIC glg Bl _
Te—tie AICT 9 IRE SR FT WU yoger | Q157 A P UF T g praferal ot 4o

I féar I €, A1 99 wEd e
(A) Jafhd 93

Q151 D9 &I 9T B— (B) BT M

(A) 31 - <R (C) rfergzmn

(B) #a - fgqd (D) gRu=

(C) 3T - <f2d

(D) o - Xfed Q158 i & € R B 41 7

(A) 3T

Q152 ‘3RvY &7 TNfead 3l BT &— (B) 3

E/B*,; AR ©) T

(C) SUad ©) ¢

(D) 3% Q159 4 # 3r<Rey &S HIF AT 87
Q153 ISt R ST F— (A) @

(A) Y07 (B) =@

(B) A C) <

(C) W (D) T

(D) uRsM

Q160 7= ¥ HETIoT &S B AT 87?

Q154 Terer # fhas! Afdqr &1 quig 87 (A) T

(A) 3MT=RoT (B) <

(B) uH (C) ¥

(C) Sita (D) ¥

(D) 9

Q161 = # 3y gof H a1 87

Q155 e & IuYh e s—

A
(A) UH DI 99T EB; Zr
(B) Sitae &7 3R ©) q
(C) =T STeRv]

(D) T

(D) A9 ReT_
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Q162 91 ¥ ®vaa qul HIF AT 87
(A) S
(B) o
€)=
D) §

Q163 f=faRaa # wg I 8—
(A) <&dretl
(B) g$HIR
(C) -
(D) eETex

Q164 B &7 Ay fawg srm—
(A) I&T + 3P
(B) I&T + 3MHR
(C) X&TT + &Y
(D) a0 + 3R

Q165 UM # 9N 8—
(A) TIBY
(B) NG
(C) 88

(D) &1

Q166 ‘aRpaT F SUTf 3
(A) a1
(B) ¥
€) ®
(D) aR

Q167 W' ¥ UIT B—
(A) 8
(B) s
(C) =g
(D) 4

Q168 /4 & ®IF AT Ieq dH 87
(A) 3T
(B) 3mH
(C) smT
(D) a1
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Q169 4 # B9 a1 ¥eg dIgva 87
(A) 7ot
(B) fox
(C) =
(D) Bd

Q170 f+=1 & ®IF AT e <INT 87
(A) &t
(B) et
(C) Rasat
(D) %t

Q171 =1 # fa<eh s B <1 87
(A) 9%
(B) 3R
(©)
(D) u<h

Q172 ¥ # Hsm orsg B
(A) T
(B) R
(C) e
(D) HreT

Q173 f=1 % |daH oIt &~
(A) <
(B) #oTd
(C€) BB
(D) "o

Q174 =1 ¥ fagor orsg 23—
(A) gerdr
(B) <8
(C) P
(D) =ma

Q175 491 ¥ IRomel fohar &—
(A) T
(B) ST
(C) g
(D) ST
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Q176 =1 # 3ty 23—
(A) 9RT
(B) =™
(C) 3rre
(D) <feyor

Q177 3t &1 yafgar g—
(A) drad
(B) "ra®
(C) aud
(D) 9T

Q178 ‘S’ & faa™ 8-
(A) ST
(B) &
(C) fagm
(D) aa+

Q179 wfar # 89 a1 & folv Ush vrea B—
(A) #rdY
(B) wrd
(C) fama
(D) 3mHM g

Q180 ‘3IfYei—3r el Treq JH HT el 37t 2
(A) MT—EdT
(B) 3T
(C) BaT—STel
(D) STel— 3T

Q181 4 & ®IF T IIeq IMHRIF 8°
(A) 3
(B) 3mg
(C) 3iferp
(D) 3ref

Q182 = # ad o 3fe & g oI B—
(A) PR
(B) STIRRYT
(C) 3rTgd
(D) 3T

MS-1

Q183 = # ad o e ¥ orgE oI B
(A) IS
(B) 3ETCA®
(C) sfaeiRie
(D) T

Q184 4 # Pal HRE BT TR HIF AT 8?
(A) @
(B) =
©) w
(D) #

Q185 =1 ¥ YfeahT wes BiF 9T &7
(A) <
(B) WTfAT

(C) arg
(D) F

Q186 =1 & FNfel T v ®IF &1 ©?
(A) 2T
(B) I
(C) e
(D) T

Q187 fA®I WIRT AQd Udhad # aral 87
(A) =
(B) ¥I®

(C) ug
(D) =R

Q188 =+ # A BTl BT IETERIT 2—
(A) SE UQT o |
(B) g8 YD UG |
(C) I8 I & |
(D) I8 el Y&T o |

Q189 =1 % HHAT™ BT ITERT —
(A) T3 forar Sirar 21
(B) X TP TS & |
(C) ¥rar v foradt 2 |
(D) g1 3T T8 Sfra |
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Q190 /1 & ®IF AT IR R drdg TEI 87
(A) TTEHT Srear B |
(B) ¥&X U WX ¥g T U |
(C) 1 S BT g |
(D) 39 ol &I I © & AR H gfg
=

Q191 H9 JE HM PR o AT a1 H
SN A T
(A) #9
(B) IE &M
(C) PR o
(D) =fRY |

Q192 ¥y faRm &1 fog -
(A) ;
B) ,
©) |
(D) !

Q193 ‘3T—3FT el 7 FHAT HBlER P Aal
aref B
(A) T B
(B) 31 &
(C) §gd rHfad gl
(D) SR BT

Q194 3FTRI TR IR I@AT TN & Fel 37
T 27
(A) T B
(B) WHSIER BT
(C) JPE B

(D) SIRgA ATl o1

Q195 ‘EFeR fdRa™ @ 81 dIdh- urd’ aAldbIkh
BT LT 31 B
(A) BFER dTe1d Gax B 2 |
(B) g 91619 BMER BT & |
(C) BFER d1ad & T g9 | &
s 39 o' § |
(D) BFER dreid Jax T8l Bl 2 |
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Q196 TH ¥ IGHY T &I 31 FH P D
forg @Er dArpifh 2—
(A) TR B AR QY RIS
(B) ¥R BT HdT ™R
(C) AT A PHIdaTel 3 T IR Pl
(D) A€ 9 Hgell, el el

Q197 UG P IRT: TG HEAd o—
(A) Hrargars
(B) BRTgars
(C) areaTgars
(D) ¥eTgdTs

Q198 =1 & ®I9 T dlell SU. BT 78] =7
(A) #aTch
(B) &Sl
(GRS

(D) &

Q199 WRGRY & forv Tdid S I B—
(A) OFFICER
(B) AUTHORITY
(C) LORD
(D) PROPRIETOR

Q200 ‘ORDER’ & forv wdia 2=l w1 23—
(A) focer
(B) foewr
(C) 3meer
(D) 3rgewr
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Read the following Instructions carefully :

frfoRaa el & &o9 9 Ue -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10.After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy
of answer sheet.

11.Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the

Invigilator after the exam.

1. Y ye & forq foU T =R famed § @
HEl IR B folU 3l TH. 3R, IR T3 W
Hacl b TTet DI 8 INI -8 AAlel / Blel ared
Ufge U 1 WX | Uob IR IR el [T S
P dI I gl T8l Sff Fhall & |

2. el GRARET B B IR 9F BT AST 7
SU Td S R PIg I R T e |
Rleell U TG SR UF # EiRd
I & SffaRad ar7aa 7 ford |

3. T gRADT Ud SR UF BT 9D GANT
BN, Fifd feed O aRRUfY & (@aa e
GRATDT H FHHI DT BIS DY) TN WRIET JREDT

UG IR UF IUALT T8l BRI SIeT |
4. e gRaeT H & T wRier gRAa®1 ARG
B WRiemdl Hal T¥id I BoRI—u= | ford |

5. 08 S R Ud YRIeTe], deT JrRiedd Bl
39T Faer g ey |

6. JredleTdh AT PHeT AeAdh Bl I AT &
forr @15 wRemeft Sruer e 7 BIS |

7. BRIRA P& F<NeTd DI AU JFAT B
T oiemmeft erger wre qE ®rsd | Afe
ol uiemeff =1 BIfoRI—ua gwer 81 fby
Al Ig AT ST | BT SEH SR UF A8
ST & 3R Ig SFferd AEE BT HHel
HAT ST |

8. uf~aal / geraei=ie / EXaaTfeld UR&eld &l
SHIRT afdtd B |

9. TXIET BfcT ¥ MR & forg udtemefl mamT
3 T el ud st g fafaa g
AT ATEFT & T AHAT BT HHAT AN
& frEi va fafgdl & ogaR 8 |

10. IRIET B SURIT IMelT SR U5eh el JIeIeTh
BT el < | NIed gRT el &l IR
U BT AT Ui BT BHRIS ST =l
g SURIT & Het BT Bred Bl AT
ST | SR U5 &l e} ufay aredf &t
3O AT o S @ SIART B |

119906 & IWId qRiefefl b u_ien R
FeT 3ifaRerds BT cller BrT | wer gkt
BT TIETRfl STue ATRr Rl of S Hdhd & |
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